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／１２問 

学習日 
   

月  日 
 

（  ）回目 
氏名 

(一) 次の１～３の英文が成り立つように、（  ）内から適切な語を選び、書きなさい。 

１ He can (speaks / speak ) Chinese. 

２ Can you ( plays / play ) the piano? 

３ Can she ( plays / play ) the piano? 

  

 

 

 

(二) 次の１～５の会話文が成り立つように、(  )内の語で始まる適語を１語ずつ書きなさい。   

１ A: Tom speaks Japanese well. 

  B: Yes.  He ①( c    )( w     ) kanji, too. 

２ A: I can eat natto.  Can you eat natto?  

  B: No, I ②(c    ). 

       But I ③(c    ) eat umeboshi.  

３ A: ④(W     )(c    ) we see in this park?  

  B: You can see many birds here. 

４ A: ⑤(C    ) (y     ) open the window? 

  B: Sure. 

５ A: This is a present for you. 

  B: ⑥(C    ) I open it?  

 A: Of course. 

  

 (三) 次の１～４の（  ）内の語を適切な形に変えて使い、現在進行形(～している)の文を作り

なさい。 

１ I ( play ) soccer.           

２ You ( listen ) to the music.              

３ He ( sings ) songs.    

４ We ( make ) takoyaki.  

            

        

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

１  ２  ３  

１ ① (c     ) (w      ) 

２ 

② (c           ) 

③ (c           ) 

３ ④ (W      )(c      ) 

４ ⑤ (C      )(y         ) 

５ ⑥ (C             ) 

１   

２   

３   

４   

解答 
（一）１ speak ２ play ３ play   
（二）１①( can )( write )  ２②( can’t / cannot) ③( can ) ３④( What)( can )  

４⑤( Can )(  you  )  ５⑤( Can ) 
 (三) １ am playing   ２ are listening   ３ is singing   ４ are making 

 

現在進行形の文構造を確認してね。   

can の後の動詞は、主語

に関係なく原形だよね。 


